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                               世纪文都教育科技集团股份有限公司

2017年6月英语四级阅读训练题(24)

2017年6月英语四六级考试考试报名已经陆续开始，不知道各位考生有没有开始准备复习呢？文都四六级考试网小编会一直陪伴着大家一起复习的！英语四级考试中四级阅读所占比重为百分之三十五，阅读训练的重要性不言而喻，然而四级阅读技巧也是一门学问。想要更早的为2017年6月的四六级考试做准备，那就来看看四六级考试网小编为各位整理的英语四级阅读训练题~

【英语四级报名时间汇总】http://cet46.wendu.com/zixun/baoming/35143.shtml  

Between labor and play __56__ work. A man is a worker if he is __57__ interested in the job which society pays him to do; what from the point of view of society is necessary labor is ___58__ his own point of view voluntary play. Whether a job is to be classified as labor or work depends, not on the job itself, __59__ on the tastes of the __60__ who undertakes it. The difference does not, for example, __61__ the difference between a manual and a mental job; a gardener or a cobbler may be a worker, a bank clerk a laborer. __62__ a man is can be seen from his attitude __63__ leisure. To a worker, leisure means simply the hours he needs to relax and rest in order to work efficiently. He is therefore more __64__ to take too little leisure than too much; workers die of heart attacks and forget their wives' birthdays. To the laborer, on the other hand, leisure means freedom from compulsion, so that it is natural for him to imagine that the fewer hours he has to spend laboring, and the more hours he is free to play, the better.

56.A. lie B.is located C. stands D.stand

57.A. particularly B.personally C.especially D.special

58.A.from B.on C.in D.to

59.A.and B.however C.but D.or

60.A.personal B. separate C.special D.individual

61.A.Consistent with B.Similar with C.coincide with D.the same with

62.A.Which B.What C.How D.Who

63.A.to B.into C.toward D.towards

64.A.likely B.appropriately C.probably D.possibly

65.A.force B.coercivity C.influence D.compulsion

【参考答案】　56---60 C B A C D   61---65 C A C A D
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